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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer the following as directed: 1x7=7

ot oI were i R Tex o ¢

(a) Which of the following ions has
highest radii ?

TS Al ATTTRI FABR TG SHoIZSlE
QR e

F62+, C02+, Ni2+’cuz+
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- | example.

()

(d)

What is ambidentate ligand ? Give one

GfRTeros foeire e b Saiggd A

Oxide of is used as catalyst for

manufacturing H,SO,.

(Fill in the blank)

I u3ideT H,S0, touR IR
6T fRHiCe IR T |
| (AT 312 979 )

Choose the correct option :

oy TeIs! AR Bfeea ¢

Dominance of strong repulsive forces
among the molecules of gases —

(IR SR TR O Rl o9 eror—

(i) depends on Z and Z=1
Z 3 ¢oJs ST @ oi% Z= 1
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(ii) depends on Z and Z>1

Z3 8oge F¥T 3w O 2> 1
(iii) depends on Z and Z<1

Z3 @oe NS @ OF Z< 1

(iv) Does not depend on Z

Z 3 @89ge [ 7o

(e) What is the SI unit of viscosity ?

ol SI & & ¢

() How covalent radii vary in a period ?

ARG G (AT A GBS AeT = ¢

(g What is the effect of temperature on
viscosity of a liquid ?

] AT 5% THeoR & AR 2 ?
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2. Answer all question : 2x4=8

Wﬁaﬁ:{@@mﬂs

(@)

(b)

Ionization energy of oxygen is less

than that of nitrogen. Explain.

SRR TR W& AP I |
g <FHA N

P
y

What do you mean by ionization %]

isomerism in co-ordination complex?

Give one example.

ANERY TG (T TSI ANV I
& g0 bt Taigd fam |

If the value of Van der Waal’s constant
“0® for a gas is zero, can it be
liquified ? Justify your answer.

©F T IR &I ‘a’ WA (I GO (TR
AQ W TE (IR SFFO IRG A
IR 2 & AR |
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(d) Find the Miller indices for a plane
(2a, -3b, —¢).

e (2a, ~3b, ~c) I BT KT R
|

3. Answer any five of the following : 5345-15
e TarTEa Rl disb Tl fra s

(a) Define atomic radius. Discuss how
atomic radius vary in periods and
groups of periodic table. Why atomic
radius of oxygen is less than that of
beryllium ? 1+1+1=3

sEIRT IPIE FIT @I ? sdinge i
s i 39S SR AR FEME T
= AR | SREE ART IR
QREmmee I3 e

(h) What are Latimer diagrams? What are

the characteristics of Latimer diagrams ?
1+2=3

@R fog & ¢ @fwe B wRenR &
e
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(¢ Write the IUPAC names of the
following : 1x3=3

weo AR IUPAC AW 313
() Fe,[Fe(CN)],

G [ou@m,),] so,

(i) [Pt (NH,)BrCl(ONO)I

(d) At what temperature will He have the

same r.m.s. speed as H, molecules
have at 27°C?

e T20OIS He T r.m.s. ot H, w9T
27°C ©%©i¥ r.m.s. SRR 7 =12

(e) Assign reasons for the following
statements : 1%2x2=3

ware i Fiesrd IR oo o

(i) The surface of a liquid behaves
as a stretched membrane.

OIER 292 BN 2R A TR I 4f
(TR |
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(ii) Cooling is always caused during

evaporation.
INSITR TS MeeTigFos A |
() Describe a method of determining
viscosity. 3
Aot e A AwfS Go1 3 =

(g9 How many Bravais lattices are
available in orthorhombic system?

Name them. 1+2=3
gdqfis @fe R0l @foR (=R SR ?
ATORHE AN fo7alt |

4. Answer any six of the following: 5x6=30

.Wﬁmﬂ{@ Ricetn 2517 Tes 1 ¢

(a) What is diagonal relationship. What is
the basis of diagonal relationship?
Discuss this between lithium and
magnesium. 142+2=5

of 795 [ ¢ o e Rk & ¢ fifkaw
% (e 4TI RIw
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(b) What is inertpair effect ? Discuss the

(c)

(d)

consequences of this effect? Explain
this effect in case of Pb and TL
1+2+2=5

g 0 e B 2 TR ARk A gow
TGN | Pb W TIF CFae 93 e
TG |

Explain the formation of [Ni(CN),F-
ion with the help of VBT. What will be

‘the magnetic moment of this complex ?

4+1=5

VBT ©FE 5RITS [Ni (CN), >~ 5157 a1 1|
I TR FII avs et |

Discuss the
() Oxidation state and

(i) formation of colored complex
behaviour of transition elements,.

2Y5x2=5
) o SR

() WEE @ AR o T
(TR (IS I 1 |
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(e) Write notes on: 2YHx2=5

(9)

SaCer ferdl ¢
(i) Fullerenes
e
(i) Jahn-Teller effect
W oeR

Calculate the CFSE of [Co (H,0),["-

Why CFSE of tetrahedral complexes is

less than that of octahedral complexes ?
3+2=5

[co (H,0)sP* I CFSEX W feredl|

SETARR (R ©eRlS  SuFeeE (TR
CFSE f&a 3 ¢

-

Derive all the critical constants values
from the Van-der Waals equation. S

SN TR TR AN o[ FIRT 47T T
Tieeat |
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(h) For an elementary reaction 2A+B —3C
write the rate laws. If the rate of
appearance of ‘C’ at time ‘¢ is

13x104molL’IS™?, then calculate

(i) rate of the reaction

(ii) rate of the disappearance of A at
this time 1+2+2=5

@ @ o Ri$ 24+B-3Cc I
SIfSTRe TRt Bt A ¢ ES ‘O’ AR

@A 1:3x10molL7'S™ = (ot GR
ATACOR

() RiEFoR feret Sier

i) A Roaems aifSras Sfenea

(i) Mention various methods for the
determination of the order of a
reaction. Write any two methods in
detail. 1+2+2=5

T | R gy afs TNy B |
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() A first order reactions is completed
- 20% in 10 minutes. Calculate the

following : S

95! AUy T RFA" 20% 5= =ita 1w
a7iest 10 55 | «fSat v fimn s wm Rew

913
(i) the rate constant

e 47T I

(i) The time taken for the reaction to
become 80% complete

RIS 80% A= e #1oit

(iii) The half-life period of the reaction.
Risraoir wfGRa FieT |
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